
Powierzchnia  
[m2]

Średnia 
powierzchnia  

[m2]

Odległo ść   
[m]

Objętość  
[m3]

Powierzchnia  
[m2]

Średnia 
powierzchnia  

[m2]

Odległo ść   
[m]

Objętość  
[m3]

Wykop 
[m3]

Nasyp 
[m3]

km 0+ 4,00 1,5 0 0

SUMA: 131,41 SUMA: 46,03 46,03

Tabela 3                                                                 TABELA ROBÓT ZIEMNYCH - Ł ĄCZNIK

68,17

km 0+

64,17 0,00

Pikieta Ŝ

km 0+ 1,53
1,52 64,17

112,86 0,00

WYKOPY NASYPY

0,77 34,19 1,03044,69

97,22

2,06

0,000
0,00

ZuŜycie 
na 

miejscu  
[m3]

0,00

46,0344,69 46,03

BILANS 
[m3]

-97,22

-85,37

Nadmiar

97,22

-11,84

0,00

0,00


